Back Canes and Backrest Hardware

[0]
(%)
©
o

o)
[72]
(%]
[o]
o

(©)

o
c
<

2]

‘s

o
=)
o]
Q

w

shown for reference only




Back Canes and Backrest Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1055398 Grip, Hand, Foam (4") 1 2
2 1121600 Back Cane Assembly, Black - Right/Left (20" H) 1 2
2 1121601 Back Cane Assembly, Black - Right/Left (24" H) 1 2
16 A 1044808 Kit, Backrest Hardware 1 1
3 Screw, Socket Button (1/4-20 x 3/4™) 1 2
4 NLA - Spacer (1/4 x 3/8 x 3/16") 1 4
5 Locknut (1/4-20) 1 4
6 NLA - Cord (5-1/2") 1 1
7 Uni-Washer, Coved 1 6
8 Lock, Cord, Black 1 1
9 NLA - Latch, Seat, Black 1 2
10 NLA - Spring, Compression (5/16 x 1-3/8 x 1/32") 1 2
11 NLA - Block, Stop 1 2
12 Locknut (1/4-28) 1 12
13 NLA - Plate, Seat Adjustment 1 4
14 Screw, Socket Button Head (1/4-20 x 1-5/8") 1 2
15 Screw, Hex Head (1/4-28 x 2") 1 12
17 1045495-NLA | NLA - Screw, Set Socket (1/4-20 x 1/4") 1 2
18 B See Chart #18 Backrest Crossmember 1 1
NOTE: A -Includes items 3-15
B - See Backrest Crossmember Chart
#18 Backrest Crossmember
Chair Width 14" 15" 16" i7" 18"
1042510 1042511 1042512 1050083 1050080
Chair Width 19" 20" 21" 22"
1050077 1050074 1085292-NLA 1085293-NLA




